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Froblemitl:
The chiwractenistic equation of a feedback system is

s* 11957 H(K-20)s+K -0 Where K=0

Fill 1n the hlank and sketeh the root Iocus

1. Thercare... ... Opeu-luop finite zeros at ... 7.1

2. Thereare...2.... Open-loop finite poles at ... 2. 2.1, - 20

5 Thereis.. i Break-in points at ........ T <+ T+

6. Theroot locus crosses the imagiuary axis at the points =, J @ when
K=..‘_29. .and the third poleis at ... 9

7. The system is stable when .2l <K< .oco....
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Problem #2:
The open loup wansfir function of a feedback control system is given by

T
Ks+—
G(YH () = ——
(DA () s st 4
The parameters K and T may be represented in a plave with K as horizontal axis and T
as the vertical axis. Determine the region in which the cloaed loop system is stable
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Problem #3
1.

2l

s

Find the steady state ervor for a step input of 10 units.
What sheuld be done in order to reduce (he error by 50%7?
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Problemfid:
Draw the asymptotic magnitude and phasc Bode plot [or the [ollowmg function

G(s) = 20(s +2)
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